BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
JANUARY 31, 2024
0390-2282 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) HCG LLC	\$970,322.20
2) DECROSTA CONSTRUCTION	\$1,091,114.32
3) DURWOOD GREENE CONSTRUCTION CO.	\$1,097,231.75
4) ICON GC LLC	\$1,118,000.00
5) DACO PAVING, INC.	\$1,137,000.00
6) PRECISE SERVICES INC.	\$1,144,648.10

CALENDAR DAYS 50/60



I, Christina Sison, PE, hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 8 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 31, 2024 LJA ENGINEERING, INC. E. MURPHY JANUARY 31, 2024

				1) HCG	LLC	2) DECROSTA CO	NSTRUCTION	3) DURWOOD GREENE	CONSTRUCTION CO.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING ITEMS FOR AN	INISTON SECTION 8								
	OT EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF D REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4923	\$3.15	\$15,507.45	\$3.00	\$14,769.00	\$2.00	\$9,846.00
STRIPPINGS, CO	OT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF MPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL E-APPLICATION, COMPLETE IN PLACE	CY	4923	\$2.20	\$10,830.60	\$3.00	\$14,769.00	\$2.00	\$9,846.00
3 6" LIME/FLY ASH	STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	13177	\$4.35	\$57,319.95	\$4.00	\$52,708.00	\$6.00	\$79,062.00
	CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE IPLETE IN PLACE	SY	11654	\$43.90	\$511,610.60	\$47.08	\$548,670.32	\$49.00	\$571,046.00
	FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY S AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	107	\$344.00	\$36,808.00	\$360.00	\$38,520.00	\$30.00	\$3,210.00
	ABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL D APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	249	\$114.25	\$28,448.25	\$188.00	\$46,812.00	\$140.00	\$34,860.00
7 6" REINFORCED	CONCRETE CURB, COMPLETE IN PLACE	LF	1971	\$3.65	\$7,194.15	\$3.00	\$5,913.00	\$3.75	\$7,391.25
8 4" X 12" REINFOR	CED CONCRETE CURB, COMPLETE IN PLACE	LF	4900	\$3.65	\$17,885.00	\$3.00	\$14,700.00	\$3.75	\$18,375.00
PAVEMENT STRI	AFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED DLES), COMPLETE IN PLACE	LS	1	\$10,740.00	\$10,740.00	\$14,000.00	\$14,000.00	\$11,000.00	\$11,000.00
10 TYPE 7 ADA RAM	PS, COMPLETE IN PLACE	EA	10	\$1,800.00	\$18,000.00	\$1,600.00	\$16,000.00	\$1,600.00	\$16,000.00
11 PROPOSED TYPE PLACE	E III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN	EA	2	\$1,300.00	\$2,600.00	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00
12 REMOVAL OF TY PLACE	PE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN	EA	2	\$185.00	\$370.00	\$500.00	\$1,000.00	\$10.00	\$20.00
13 PAVEMENT HEAD	DER, COMPLETE IN PLACE	LF	56	\$20.00	\$1,120.00	\$25.25	\$1,414.00	\$10.00	\$560.00
14 DOUBLE REFLEC	CTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	7	\$16.75	\$117.25	\$50.00	\$350.00	\$20.00	\$140.00
15 FINAL LOT GRAD	ING, COMPLETE IN PLACE	LS	1	\$29,000.00	\$29,000.00	\$26,000.00	\$26,000.00	\$14,600.00	\$14,600.00
PAVING ITEMS FOR AN	INISTON SECTION 8 SUBTOTAL:				\$747,551.25		\$798,025.32		\$778,956.25
KATY HOCKLEY ROAD	LEFT TURN LANE ITEMS								
1 30" RCP STORM	SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	88	\$174.00	\$15,312.00	\$135.00	\$11,880.00	\$220.00	\$19,360.00
	EATMENT FOR 30" CULVERT, (TO BE USED ONLY AS DIRECTED ER), COMPLETE IN PLACE	EA	2	\$2,385.00	\$4,770.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00
3 STANDARD PREG	CAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,600.00	\$3,600.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
4 REGRADING OF COMPLETE IN PL	EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, ACE	LF	534	\$9.45	\$5,046.30	\$10.00	\$5,340.00	\$30.00	\$16,020.00
	VATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, TION OF STRIPPINGS, COMPLETE IN PLACE	CY	309	\$3.15	\$973.35	\$12.00	\$3,708.00	\$30.00	\$9,270.00
COMPACTION TO	NKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, 0 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- STRIPPINGS, COMPLETE IN PLACE	CY	309	\$3.15	\$973.35	\$12.00	\$3,708.00	\$30.00	\$9,270.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
JANUARY 31, 2024

LOAG	55 NO.		0.	1) HCG	II.C	2) DECROSTA CO	ONSTRUCTION	3) DURWOOD GREENE	CONSTRUCTION CO
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	2" HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE	SY	793	\$30.15	\$23,908.95	\$30.00	\$23,790.00	\$50.00	\$39,650.00
8	10" BLACK BASE, COMPLETE IN PLACE	SY	793	\$84.90	\$67,325.70	\$92.50	\$73,352.50	\$97.00	\$76,921.00
	1" HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE	SY	1586	\$17.30	\$27,437.80	\$20.25	\$32,116.50	\$30.00	\$47,580.00
10	6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	948	\$4.40	\$4,171.20	\$5.00	\$4,740.00	\$17.00	\$16,116.00
	HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	8	\$344.60	\$2,756.80	\$425.00	\$3,400.00	\$30.00	\$240.00
	FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	18	\$114.25	\$2,056.50	\$188.00	\$3,384.00	\$140.00	\$2,520.00
	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$11,980.00	\$11,980.00	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00
	INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES DURING CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	\$35,000.00	\$35,000.00
15	ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$7,260.00	\$7,260.00	\$36,195.00	\$36,195.00	\$2,000.00	\$2,000.00
16	HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	1	\$2,625.00	\$2,625.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
17	TRENCH SAFETY, COMPLETE IN PLACE	LF	88	\$2.25	\$198.00	\$5.00	\$440.00	\$1.00	\$88.00
KATY	HOCKLEY ROAD LEFT TURN LANE ITEMS SUBTOTAL:				\$186,894.95		\$233,054.00		\$299,035.00
MISCE	ELLANEOUS ITEMS								
	ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00
	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$39.00	\$3,900.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$8,900.00	\$8,900.00	\$20,000.00	\$20,000.00	\$4,500.00	\$4,500.00
4	6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE	LF	96	\$46.00	\$4,416.00	\$35.00	\$3,360.00	\$40.00	\$3,840.00
	TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$1,675.00	\$1,675.00	\$5,000.00	\$5,000.00	\$100.00	\$100.00
	CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,970.00	\$1,970.00	\$5,500.00	\$5,500.00	\$1,500.00	\$1,500.00
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREEP SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$2,695.00	\$2,695.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00
	EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$890.00	\$890.00	\$900.00	\$900.00	\$100.00	\$100.00
	EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.70	\$170.00	\$19.50	\$1,950.00	\$1.00	\$100.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
JANUARY 31, 2024
0390-2282 (9.2)

			1) HCG	LLC	2) DECROSTA CON	NSTRUCTION	3) DURWOOD GREENE	CONSTRUCTION CO.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	50	\$9.00	\$450.00	\$15.00	\$750.00	\$0.01	\$0.50
11 EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.80	\$280.00	\$2.25	\$225.00	\$1.00	\$100.00
12 EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$2,625.00	\$2,625.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
13 EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,340.00	\$1,340.00	\$1,300.00	\$1,300.00	\$650.00	\$650.00
14 12"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,755.00	\$1,755.00	\$3,500.00	\$3,500.00	\$700.00	\$700.00
15 10"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,580.00	\$1,580.00	\$3,200.00	\$3,200.00	\$600.00	\$600.00
16 8"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,485.00	\$1,485.00	\$2,900.00	\$2,900.00	\$400.00	\$400.00
17 5"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,395.00	\$1,395.00	\$2,600.00	\$2,600.00	\$300.00	\$300.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$35,876.00		\$60,035.00		\$19,240.50
BIDDING SUMMARY								
SUBTOTAL PAVING ITEMS FOR ANNISTON SECTION 8				\$747,551.25		\$798,025.32		\$778,956.25
SUBTOTAL KATY HOCKLEY ROAD LEFT TURN LANE ITEMS				\$186,894.95		\$233,054.00		\$299,035.00
SUBTOTAL MISCELLANEOUS ITEMS				\$35,876.00		\$60,035.00		\$19,240.50
TOTAL AMOUNT BASE BID				\$970,322.20		\$1,091,114.32		\$1,097,231.75

Page 4 of 7 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
JANUARY 31, 2024

LJA JOB NO.		039	10-2202 (9.2)					
			4) ICON G	C LLC	5) DACO PA	/ING, INC.	6) PRECISE SE	RVICES INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING ITEMS FOR ANNISTON SECTION 8								
1 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4923	\$12.00	\$59,076.00	\$4.65	\$22,891.95	\$1.75	\$8,615.25
2 ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION, COMPLETE IN PLACE	CY	4923	\$15.00	\$73,845.00	\$1.20	\$5,907.60	\$3.95	\$19,445.85
3 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	13177	\$7.00	\$92,239.00	\$3.00	\$39,531.00	\$4.45	\$58,637.65
4 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	11654	\$44.00	\$512,776.00	\$47.00	\$547,738.00	\$49.00	\$571,046.00
5 HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	107	\$350.00	\$37,450.00	\$345.00	\$36,915.00	\$315.00	\$33,705.00
6 FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	249	\$160.00	\$39,840.00	\$140.00	\$34,860.00	\$135.00	\$33,615.00
7 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1971	\$4.00	\$7,884.00	\$4.00	\$7,884.00	\$4.30	\$8,475.30
8 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4900	\$4.00	\$19,600.00	\$4.00	\$19,600.00	\$4.30	\$21,070.00
9 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$10,400.00	\$10,400.00	\$11,000.00	\$11,000.00
10 TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	10	\$1,500.00	\$15,000.00	\$1,500.00	\$15,000.00	\$1,500.00	\$15,000.00
11 PROPOSED TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	2	\$10.00	\$20.00	\$1,350.00	\$2,700.00	\$1,350.00	\$2,700.00
12 REMOVAL OF TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	2	\$1.00	\$2.00	\$1.00	\$2.00	\$100.00	\$200.00
13 PAVEMENT HEADER, COMPLETE IN PLACE	LF	56	\$12.50	\$700.00	\$16.00	\$896.00	\$20.00	\$1,120.00
14 DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	7	\$15.00	\$105.00	\$18.00	\$126.00	\$20.00	\$140.00
15 FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$33,832.12	\$33,832.12	\$21,900.00	\$21,900.00	\$24,500.00	\$24,500.00
PAVING ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$899,869.12		\$766,351.55		\$809,270.05
KATY HOCKLEY ROAD LEFT TURN LANE ITEMS								
1 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	88	\$172.00	\$15,136.00	\$420.00	\$36,960.00	\$285.00	\$25,080.00
2 SAFETY-END TREATMENT FOR 30" CULVERT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	2	\$1,900.00	\$3,800.00	\$3,255.00	\$6,510.00	\$4,400.00	\$8,800.00
3 STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,450.00	\$3,450.00	\$7,875.00	\$7,875.00	\$6,150.00	\$6,150.00
4 REGRADING OF EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	534	\$8.00	\$4,272.00	\$23.20	\$12,388.80	\$11.50	\$6,141.00
5 ROADWAY EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	309	\$8.00	\$2,472.00	\$47.25	\$14,600.25	\$1.75	\$540.75
6 ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	309	\$9.00	\$2,781.00	\$47.25	\$14,600.25	\$4.60	\$1,421.40

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 31, 2024 LJA ENGINEERING, INC. E. MURPHY JANUARY 31, 2024

				4) ICON G	C LLC	5) DACO PA	/ING, INC.	6) PRECISE SEF	RVICES INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	2" HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE	SY	793	\$29.00	\$22,997.00	\$37.00	\$29,341.00	\$43.50	\$34,495.50
8	10" BLACK BASE, COMPLETE IN PLACE	SY	793	\$102.00	\$80,886.00	\$125.00	\$99,125.00	\$135.00	\$107,055.00
9	1" HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE	SY	1586	\$14.00	\$22,204.00	\$20.00	\$31,720.00	\$42.00	\$66,612.00
10	6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	948	\$14.00	\$13,272.00	\$42.25	\$40,053.00	\$4.45	\$4,218.60
11	HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	8	\$350.00	\$2,800.00	\$1.00	\$8.00	\$315.00	\$2,520.00
12	FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	18	\$160.00	\$2,880.00	\$1.00	\$18.00	\$135.00	\$2,430.00
13	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$8,900.00	\$8,900.00	\$12,139.15	\$12,139.15	\$12,000.00	\$12,000.00
14	INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES DURING CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$7,000.00	\$7,000.00	\$24,200.00	\$24,200.00	\$19,000.00	\$19,000.00
15	ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00	\$3,400.00	\$3,400.00
16	HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	1	\$2,350.00	\$2,350.00	\$2,100.00	\$2,100.00	\$2,400.00	\$2,400.00
17	TRENCH SAFETY, COMPLETE IN PLACE	LF	88	\$0.01	\$0.88	\$10.00	\$880.00	\$0.10	\$8.80
KATY	HOCKLEY ROAD LEFT TURN LANE ITEMS SUBTOTAL:				\$201,200.88		\$334,518.45		\$302,273.05
MISC	ELLANEOUS ITEMS								
1	ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES	EA	1	\$350.00	\$350.00	\$450.00	\$450.00	\$350.00	\$350.00
	LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE				******				
2		СУ	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED		100			\$20.00 \$6,400.00	\$2,000.00 \$6,400.00	\$20.00 \$8,750.00	\$2,000.00 \$8,750.00
3	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS	CY		\$20.00	\$2,000.00		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, ,,
3	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	CY	1	\$20.00 \$3,500.00	\$2,000.00 \$3,500.00	\$6,400.00	\$6,400.00	\$8,750.00	\$8,750.00
3 4 5	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN	CY LS	96	\$20.00 \$3,500.00 \$30.00	\$2,000.00 \$3,500.00 \$2,880.00	\$6,400.00 \$60.00	\$6,400.00 \$5,760.00	\$8,750.00 \$55.00	\$8,750.00 \$5,280.00
3 4 5	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT,	CY LS LF LS	96	\$20.00 \$3,500.00 \$30.00 \$750.00	\$2,000.00 \$3,500.00 \$2,880.00 \$750.00	\$6,400.00 \$60.00 \$1,000.00	\$6,400.00 \$5,760.00 \$1,000.00	\$8,750.00 \$55.00 \$1,500.00	\$8,750.00 \$5,280.00 \$1,500.00
3 4 5 6	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE STORM WATER POLLUTION PREVENTION PLAN COMPLANCE AND INSPECTIONS, INCLUDING STREEP SWEEPING AND CONCRETE WASHOUT, COMPLETE IN	CY LS LF LS	96 1	\$20.00 \$3,500.00 \$30.00 \$750.00	\$2,000.00 \$3,500.00 \$2,880.00 \$750.00	\$6,400.00 \$60.00 \$1,000.00	\$6,400.00 \$5,760.00 \$1,000.00	\$8,750.00 \$55.00 \$1,500.00 \$2,000.00	\$8,750.00 \$5,280.00 \$1,500.00 \$2,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
JANUARY 31, 2024
0390-2282 (9.2)

			4) ICON GO	CLLC	5) DACO PAVI	NG, INC.	6) PRECISE SEF	RVICES INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	50	\$5.00	\$250.00	\$7.00	\$350.00	\$8.00	\$400.00
11 EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.70	\$170.00	\$1.00	\$100.00
12 EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00
13 EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$650.00	\$650.00	\$1,100.00	\$1,100.00	\$650.00	\$650.00
14 12"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$950.00	\$950.00	\$1,400.00	\$1,400.00	\$2,700.00	\$2,700.00
15 10"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$900.00	\$900.00	\$1,375.00	\$1,375.00	\$2,325.00	\$2,325.00
16 8"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$850.00	\$850.00	\$1,325.00	\$1,325.00	\$1,925.00	\$1,925.00
17 5"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,250.00	\$1,250.00	\$1,175.00	\$1,175.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$16,930.00		\$36,130.00		\$33,105.00
BIDDING SUMMARY								
SUBTOTAL PAVING ITEMS FOR ANNISTON SECTION 8				\$899,869.12		\$766,351.55		\$809,270.05
SUBTOTAL KATY HOCKLEY ROAD LEFT TURN LANE ITEMS				\$201,200.88		\$334,518.45		\$302,273.05
SUBTOTAL MISCELLANEOUS ITEMS				\$16,930.00		\$36,130.00		\$33,105.00
TOTAL AMOUNT BASE BID				\$1,118,000.00		\$1,137,000.00		\$1,144,648.10

Page 7 of 7 FRN F-1386 LJA Engineering, Inc.